793 =

1
f@) =3 + 2 / f)dt T B, ROMOICER K,
0
(1) f(z) 2R, Bl y = f(z) DTS TOWEEDT,

(2) }‘—iP(——-— ——) ZiE5, iy = f(x)0)290)%ﬁ%ll,lz 3%, 2D00EML &
lo BRUHHR y = f(z) THENZHOOERE S ZRD &,

(BLATA)
o o sepan ewee
} ( E@bfab WJ&-LL'IQZ‘
etan= e a [, Gerakda Az Fht
iy [-;tff -i“outz] 0‘ o2
=3 ((+ Loy

Fro) s 3w+ 20

~3 (H-—'s-)L-

| {0 pxr2 {m Fod (k. 3452ty IHELE pagy

JErt2) -2)t 742424
Y=(bkt2) 1 I e Lo (-2

51) Edizag
“4_1\16'*2‘ = b 3
RN UL RS 2 3L 4t <0 > (341t E =0
}%a{ﬁ_mz\‘w | x;_-SL'_,
1
I3, Yr-axt~3
s LS J (37L‘+2k+4—x-+3)v(i~ U
TE-3 (“5.‘§) &3
”‘[%3”1}1@1,‘]—@ .-
§>7“ 1) - “‘T\i\i)-—~«
3 2.
7 q - ?7' 29

P

1 B http://www.mathtext.info/



